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QUESTION 1

A Hitachi Unified Storage system is connected to a Solaris server. If you want to optimize performance for the host I/Os,
how do you determine the appropriate queue depth value? 

A. Set queue depth to 1. 

B. Use the operating system default value. 

C. The value is set according to the results of the initial SCSI inquiry. 

D. Using the Host installation guide for Fibre Channel. 

Correct Answer: D 

 

QUESTION 2

Which two operations can be performed with the Web utility on a Hitachi Unified Storage system? (Choose two.) 

A. Take a simple trace. 

B. Install license keys. 

C. Perform an online microcode update. 

D. Perform an offline microcode update. 

Correct Answer: AD 

 

QUESTION 3

A customer uses TrueCopy and ShadowImage with Hitachi AMS2000 modular arrays. They are interested in upgrading
those systems to Hitachi Unified Storage (HUS). Which two benefits will the customer have with HUS systems in this
environment? (Choose two.) 

A. TrueCopy and ShadowImage will no longer require a DM-LU. 

B. TrueCopy and ShadowImage will require less cache in the systems. 

C. The granularity of differential data being copied to the replication target has improved. 

D. The size of the DM-LU used for ShadowImage and TrueCopy will be reduced by about 50%. 

Correct Answer: BC 

 

QUESTION 4

An administrator wants to install Hitachi Dynamic Link Manager (HDLM) on a Solaris server. Which two are required
before performing the installation? (Choose two.) 
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A. The server must have IPv6 disabled. 

B. A valid HDLM license must be obtained. 

C. The server must be in a dual path configuration. 

D. The processes of all applications accessing the devices to be managed by HDLM must be terminated. 

Correct Answer: BD 

 

QUESTION 5

A Hitachi Unified Storage (HUS) system has been configured to use additional Host Groups. Which host interface type
on the HUS can be used to access these Host Groups? 

A. FC 

B. iSCSI 

C. NAS 

D. IP 

Correct Answer: A 
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